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John 9:20


 is the inferential use of the postpositive conjunction OUN, meaning “Therefore” plus the third person plural aorist deponent passive indicative from the verb APOKRINOMAI, which means “to answer.”


The aorist tense is a constative/historical aorist, which views the action as a fact.


The active voice indicates that the parents of the formerly blind man produced the action.


The indicative mood is declarative for a simple statement of fact and reality.
Then we have the nominative subject from the masculine plural article and noun GONEUS with the possessive genitive from the third person masculine singular personal use of the intensive pronoun AUTOS, meaning “his parents.”  There is no direct object “them” in the Greek as found in the NASV translation.  It is implied, but not necessary to state.  Then we have the additive use of the conjunction KAI, meaning “and” plus the third person plural aorist active indicative from the verb EIPON, which means “to say: said.”


The aorist tense is a constative/historical aorist, which views the action as a fact.


The active voice indicates that the blind man’s parents produced the action.


The indicative mood is declarative for a simple statement of fact and reality.

“Therefore, his parents answered and said,”
 is the first person plural perfect active indicative from the verb OIDA, which means “to know: We know.”

The perfect tense is an intensive perfect, which emphasizes the present state of being as a result of a past, completed action.


The active voice indicates that the blind man’s parents produce the action.


The indicative mood is declarative for a simple statement of fact.

Then we have the conjunction HOTI, which is used after verbs of mental activity to indicate that content of that mental activity.  It is translated “that.”  This is followed by the nominative subject from the masculine singular demonstrative pronoun HOUTOS, meaning “this.”  With this we have the third person singular present active indicative from the verb EIMI, which means “to be: is.”


The present tense is an aoristic present, which views the state of being as a fact.


The active voice indicates that the son of these parents produces the state of being their son.


The indicative mood is declarative for a simple statement of fact and reality.

Then we have the predicate nominative from the masculine singular article and noun HUIOS plus the possessive genitive from the first person plural personal pronoun EGW, meaning “our son.”

“‘We know that this is our son,”
 is the additive use of the conjunction KAI, meaning “and” plus the conjunction HOTI, meaning “that.”  Then we have the predicate nominative from the masculine singular adjective TUPHLOS, meaning “blind.”  Finally, we have the third person singular aorist passive indicative from the verb GENNAW, which means “to be born.”


The aorist tense is a constative/historical aorist, which views the action as a fact.


The passive voice indicates that the son received the action of being born blind.


The indicative mood is declarative for a simple statement of fact and reality.
“and that he was born blind;”
Jn 9:20 corrected translation
“Therefore, his parents answered and said, ‘We know that this is our son, and that he was born blind;”
Explanation:
1.  “Therefore, his parents answered and said,”

a.  The parents of the healed man who was born blind now answer the three questions of the Pharisees.

b.  Their answer is truthful and to the point.  They do not evade the questions or embellish their answer.  As we will see shortly, they are afraid of their questioners.
2.  “‘We know that this is our son,”

a.  The first question the Pharisees wanted to know was whether or not the healed man was actually their son.  The answer of this couple is that they know for certain that he is their son.

b.  The Pharisees were hoping for a different answer, but they probably knew this was the answer they would get.  So it is likely that they are not really disappointed by this answer.

c.  What parent does not know exactly who their own children are, especially if they have raised them from birth and they are now adults?  It was impossible for the Pharisees to challenge this answer and they knew it.  So the Pharisees never make any attempt to do so.

3.  “and that he was born blind;”

a.  The second question the Pharisees wanted to know was whether or not their son had been born blind.  Again they expected the answer to be ‘yes’ and the parents confirm that this is the truth.  The child was born blind and has been blind all his life.

b.  The parents tell the truth without elaboration.  They want to give their testimony before the court and get out of there as fast as they can.

c.  The Pharisees also expected this answer and do not challenge it.  They are gradually being boxed into a corner of having to admit that there is no fake healing here.  The Pharisees are doing the exact opposite of what they intended—they are proving in a formal court of law that the miracle performed by Jesus was truly a miracle that cannot be explained away as anything other than a divine creation of new eyes from a handful of mud.


d.  “This answer explodes the idea of collusion [with Jesus].”

� Nicoll, p. 785.
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